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R 2 R 3 R 4

64. 6 56. 1 59.7
I 4 (64. 3) (58.0) (62.1)
<+0. 3>~ (=1. 9 (-2. 4)

61.5 | Na 544 " 54.2
N5 62. Y[ -2. 6 [(56.7) -0 1 [(56.2)
<=0, 6> (-2. 33 (-2.0)

581 | Na 57.0 - 62. 2
N6 (58.8)[ -1. o [(58.6)[ +0. 7 ](63.8)
<=0, I>~ (-1. 6) (-1.6)

iZ 59.2 \\\\\ 59. 4 \\\\‘ 56. 7
th 1 61.1)[-1. 2 [(61.3) -0. 5 |(58.8)
<=1, 9>~ (-1.9) (-2.1)

63. 4 \\\\11 61.8 \\\\\\‘ 55.7
th 2 (63. 8)[ +0. & [(63.1) +0. 5 [(57.1)
<=0. 4> (-1, 3)] (-1.4)

69.5 L 671 | . 542
3 (72. D] -0. 6 [(68.1) -0. 8 |(56.3)
<=3. 2> (-1.0) (-2.1)

54.5 61.2 56. 2
th 2 (57.3) (62. 6) (59. 0)
% {=2. 8> (=1, 4) (-2.8)
iE 50. 0 L 54.8 NG 52. 6
th 3 (55. ) -2. 4 ](60.0) =1. o |(55.9)
<=5. 7> (-5.2) (-3.3)




R 2 R 3 R 4
63.5 68. 1 61.3
g | (64.2) (69.9) (63.0)
<-0. 7> (1.8 (-1.7)
609 | % 57.9 \f 62.0
N5 | (61.7)[=3. 0 |(61.6) +o. 8L<63. 0)
<-0.8>< (3. 1) (-1.0).
" 58.6 | Nw 60.1 | Ng 59.4
& | 6 | (590 =0 [(60.9) +s. 3 |(59.8)
_ <=0. 4>~ (0. 8 [\¢=0.4).
£ 588 | Ns58.5 | “a 56.4
| H (60.2)| =©- 5 |(59.4)[-0. 5 [(57.7)
(=1, 4> (0. 9)~ (-1.3)
55. 8 \1( 58.5 Y| N 48.8
th 2 (58.6)| +o. 8L(59. Dl -3.0 (52.7)
<-2. 8> (-0. 6)K (-3.9)
531 | K 56,1 \\\ 54. 6
3 | (57.7)[+o. 8 |(58.1)[-1. 9 |(57.1)
(~4. 6> ((-2.0)JT T (-2.5)




